( =0;i<10; ++i)
seq.push_back(i);

cout << <<endl;
cout << seq.size() << endl;

cout << << endl;
cout << seq << endl;

seq.push_back(seq.remove_at(seq.index_of(seq.at(9))));
cout << <<endl;
cout << seq << endl;

seqg.insert_at(9, seq.remove_at(seq.index_of(seq.at(9))));
cout << << endl;
cout << seq << endl;

seqg.insert_at(8, seq.remove_at(seq.index_of(seq.at(8))));
cout << << endl;
cout << seq << endl;

seq.insert_at(5, seq.remove_at(seq.index_of(seq.at(5))));
cout << << endl;
cout << seq << endl;

seqg.insert_at(0, seq.remove_at(seq.index_of(seq.at(0))));
cout << << endl;
cout << seq << endl;

seqg.insert_at(-1, seqg.remove_at(seq.index_of(seq.at(-1))));
cout << << endl;
cout << seq << endl;

seq.insert_at(12, seq.remove_at(seq.index_of(seq.at(12))));
cout << <<endl;
cout << seq << endl;

cout << << endl;
cout << seq.size() << endl;

cout << << endl;
cout << seq << endl;

oSy,
L (seq);
copy_assigned = copy_constructed;

seq.clear();
cout << << endl;
cout << seq << endl;

cout << << seg.remove_at(5) << endl;
cout << << endl;
cout << seq << endl;

cout << << seq.index_of(5) << endl;
cout << <<endl;
cout << seq << endl;

cout << << seq.at(5) << endl;
cout << << endl;
cout << seq << endl;

seqg.insert_at(5, 5);
cout << << endl;
cout << seq << endl;

cout << << endl;
cout << seq.size() << endl;

cout << <<endl;
cout << copy_constructed << endl;
cout << copy_assigned << endl;

0;



